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1 BT IS A—EOHERBEE
RA X a1 (Bayesian statistics) TlE, /35 A—4 0 DERIFERZRE RIS (prior probability
density function) 7[(6’) 2L T, FEREEZEERIE (posterior probability density function)
7[(«9 | y) . NA XD (Bayes' theorem) MoEHHE T %,
7(0|y)ec f(y10)z(0) (1)

EEOEHalTH LT, B (x;a) EEREHRETS,

I(x;a)=1if x2a [=0 otherwise] )
nfBDT—2y MEZLNT-LE BROMEBEERT S

F(y|9)=;_21(y;y,-) ©)
RIS T AREZEBERL. AHEROEMS TEZOND.,

LWIy)Ef(ﬂ@):W

LD F (particle) [ F | (particle) 5, TI(x;a) #RRL, NTA—20 ODREELMER
B 5, £, BRI 7(0]y) ELT. B—HAHABRLEABEERT 5,

4

2 RAXREHZ K B/TA—2HEE

FEHRTZ (nonlinear) M D BIAY (dynamic) T AR ETILOHIEL T, BEEFR R (FRIEIZ KLY,
FR% (NH,CONH,) ML R 3K (CO,) ET7VEZT (NH,) IR RSB IL 2R EEEZ S,

NH,CONH, + H,0 — CO, + 2NH, (5)
ERT AR, ZRILRERE C(1) OBMELORERET 5. B EL%),

C(t)=100x[1-exp(-6¢)(1+61)] (6)

C(1)=100x[1-6,exp(-6)/(6,—6,)+ 6 exp(-6,1)/(6, - 6,)] )

C(1)=100x[1-6,exp(-6, (1 +6,))/(6, - 6,) + 6, exp(-6, (1 +6,))/(6,-6,)] (®)
t{ 2|46 |8 |10[12]|14|16| 18|20

C|| 568 | 224 | 356 | 470 | 576 | 659 | 720 | 786 | 834 | 86.1

1 Gale and Eadie [C&DRFMK D EDEERT—4
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BB DRE 2L— 3> - T HILAORTFEE (population Monte Carlo) [Z&kY ., HETILD/N
TA—BEHTETHENTED, M RAXHETTIE, INTA—EADEERFEH DO ENTTEE
12H%. MAP (maximum aposteori) # BT NIX, AT E—HT D,

= > a = 4
HEAH = = RAXHMETE Bk

. RAHE -

% 15
INDA—

S lealelalale|e
Model 1(= 9) 0.1910 — — 0.1903 — —
Model 2(= 10) 0.1098 | 0.5283 — 0.1118 | 0.4892 —
Model 3(:€ 11) | 0.1185 | 0.3355 | 0.6948 | 0.1087 | 0.7058 | -0.392
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== Gaussian distribution (for reference only) =@ Estimated Model Parameter (theta 1)

H2 $54A—50 DBEEREENE  E3 $54A—40,0, DBEEEREST

3 IEHMEBERAEICKZETILER
3- 1 AIC (Akaike Information Criterion: FRiIERE %)

4IC, = -2 log 7 (2:16)+2p, ©)
3-2 BIC (Bayesi; Information Criterion: N4 X{& ¥R = FH %)

BIC, = —ZZn:logf(yl. |ék) +p, logn (10)
3-3 DIC (Devia:l:e Information Criterion : fRZ= &R 8 H %)

DIC=D(6)+p,=D(0)+2p, (11)

D(6)=-2log f(y|6)+2logh(y) (12)

pp,=D(0)-D() (13)

4- 4 ETIL:ERDH (model discrimination: example)

FYNESWNVEREREBEFEETILOBEESENTWVERMT 2 EOTOERETILDIES.
AIC, BIC, DIC A DIFHMERAEICEBSLTH, Model 2 NEEMETIILELTE RSN S,

FRERRE AlC BIC DIC
Model 1 (& 9) 72.7 70.7 | +0.033
Model 2 (= 10) 12.3 9.6 | —0.041
Model 3 (= 11) | 133 10.6 | +0.206
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